
Name:             Date:  

Practice Graphing Sine and Cosecant  

 

𝑦 = 2 sin(2𝑥 − 𝜋) − 3 

Amplitude:  

Vertical Shift:  

Period:  

Phase/Horizontal Shift:  

Left Endpoint:  

Right Endpoint: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑦 = 3 sin (𝑥 +
𝜋

4
) + 1 

Amplitude:  

Vertical Shift:  

Period:  

Phase Shift:  

Left Endpoint:  

Right Endpoint 
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𝑦 = csc (
𝑥

2
) + 1 

Amplitude:  

Vertical Shift:  

Period:  

Phase Shift:  

Left Endpoint:  

Right Endpoint: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑦 = −3 csc (𝑥 −
𝜋

4
) + 1 

Amplitude:  

Vertical Shift:  

Period:  

 

 

 

 

 

 

Phase Shift:  

Left Endpoint:  

Right Endpoint: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Name:             Date:  

Practice Graphing Cosine and Secant 

𝑦 = cos(2𝑥 − 𝜋) + 3 

Amplitude:  

Vertical Shift:  

Period:  

Phase Shift:  

Left Endpoint:  

Right Endpoint: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑦 = 2 cos (2𝑥 +
𝜋

2
) + 1 

Amplitude:  

Vertical Shift:  

Period:  

Phase Shift:  

Left Endpoint:  

Right Endpoint 
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𝑦 = 3sec (
𝑥

2
) − 1 

Amplitude:  

Vertical Shift:  

Period:  

Phase Shift:  

Left Endpoint:  

Right Endpoint: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑦 = −4 sec (𝑥 −
𝜋

4
) 

 

Amplitude:     Phase Shift:  

Vertical Shift:     Left Endpoint:  

Period:              Right Endpoint: 

 

 

 

 

 

 

 

 



Pre-Calculus  Name: 

  Date: 

Graphing all Functions 

 

1. 𝑦 = −
1

2
𝑠𝑖𝑛( 𝑥 −

𝜋

4
) 

 

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 

 

 
 

 

 

2. 𝑦 = 3 𝑐𝑠𝑐( 2𝑥 + 𝜋) + 2 

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 

 

 



 

3. 5)2cos(2 −= xy  

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 
 

 

 

4. 𝑦 = −2 𝑠𝑒𝑐( 4𝑥 −
𝜋

2
) + 3 

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 

 
 

 

 

 

 

 

 

 



5.

 

y = 2sin
x

2
+



4

 

 
 

 

 
  

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 

 
 

 

 

6. 2)
2

cos(4 +=
x

y  

Amplitude:       Vertical Shift: 

 

Period:        Phase Shift: 

 

Left Endpoint:       Right Endpoint: 

 

 

 
 

 

 

 

 

 

 



Graphing Tangent Functions 

 

1. )
4

tan(


−= xy  

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 

 
 

 

 

2.𝑦 = 𝑐𝑜𝑡 𝑥+ 2 

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 

 
 



3.𝑦 = −𝑡𝑎𝑛( 𝑥 + 𝜋) − 1 

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 
 

 

 

4. 𝑦 =
1

2
𝑐𝑜𝑡( 𝑥 −

𝜋

4
) + 2 

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 
 

 

 

 

 

 

 

 



 

Name:             Date:  

 

1. 1)2tan( += xy  

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 

 
 

 

 

2. 𝑦 = 3 𝑐𝑜𝑡(
1

2
𝑥) − 2 

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 

 



3. 1)tan(2 −+= xy  

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 
 

 

 

4.𝑦 = 3 𝑐𝑜𝑡( 𝑥 −
𝜋

4
) − 1 

 

Amplitude:     Vertical Shift:    Phase Shift: 

 

Starting Point:     Period:     Half Period: 

 

Left Asymptote:    Right Asymptote: 

 

 

 
 

 

 

 

 

 

 


